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The mean (Expectation) (W), The variance (O 2) , The standard deviation (O),
The coefticient of correlation (r) .
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@ If A and B are two independent events of a sample | #1428 (o Gebbicas e o ¢ PO 13

space S for a random experiment where : cASlghe &y 2 Al
P(A) = 0.5,P(B) = 0.6, then Sh=(e)d 0= (1)d
PAUB)= ... —(o UMy o
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then P(B'|A) =............ | =(p /o) ok

@ IfP(A)=21,P(A—B)=3, %:(g-p)dg%qmgms\p
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@ The variable that can be estimated from the regression | (& o4& wsladdl sl sous
line equation is called ................ variable. o 2l jlassYl das Dslas
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If x is a discrete random variable whose probabil- | Llais (1t 15ite ~m 3 13)

ity distribution is defined by the function : DI saoy SN s § 55
f(x) = where x = 0,1,2and 3 T

x+1 _ ( u_ﬂ) 5
Find : Vo \
First : The value a VeVl ammpw s
Second : The expectation and the variance of the 1 i

random variable x P des Y







@ If the expectation for a random variable is 4 and C)‘SH}AV&‘E ie ..'""=58)15‘C>\5‘5‘,
its standard deviation equals 8 and its coefficient of Soeayl JA’;} A 3l 6 pmall 91

variation equals 8.3 %, then pu ~...... G Lo ZA Y 65l
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@ IfP(A|B) =
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@ Answer only two items from the items of this question : 1Jadd (30,48 e I J1jaud! B cunl
If a die has been rolled once, Calculate : . . .
. . . wo-\:o.k:-\_gc)ﬁb}ﬁo-gsa\
(a) The probability that the appearing number is a ’ =
prime number on condition that the appearing Lo Wl ol suall ) o8G of Jlz! -
number is an odd number. \mﬁ s el sual o 65 o
(b) The probability that the appearing number is an | . . . o
odd number given that the appearing number is sl o ‘)3{’ ‘{\ JL‘;"'\ e
divisible by 5 . 0 e el Juy by Lo Lo 8

() The probabilty tatthe appearing number s an | ,_2,C-y a1 sud €, Ui -
even number on condition that the appearing el sl ol S
number is a multiple of 3. A Las ,all sl 55 0







If x is a continuous random variable, its probability | &1s Shaze Gl s—sie Ve e OIS 13
density fu?ctlon 1s A A eyt kS
f(x)={1_6(x+2) whenOSx.S4 255 (v L "y

zero otherwise o . . v
. Slas b g
Find :
First : P(x >3) (v< o) J: Yol sami
:P2<x<4 s
Second : F( ) (62 m>Y) J: Bk







@ Answer only one item from the items of this THCNPYP-+ WV (i (B (] 9% [ YWE N

question: Vo= o Tz w8713
IfYXx=60,>y=70,Yxy =374 T 2T PVE = o X
Y x% =406, y% =536 andn = 10 Veoge 601 =TT
Find : ..
(a) Pearson’s linear correlation coefficient between s gle

x and y and determine its type. p izl o a3l LS Jelas -

(b) The regression line equation of Y on x . PUSRISIRN







If Z is a standard normal variable, 0850 slas Ui 1 ite ~ 02 0813
P(Z <k)=09147,thenk=.... | ... =806+, NV =(d=~2) ]
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If X is a normal variable whose mean
M =9 and its variance equals 16 ,then the variable
subjected to a standard normal distribution is:
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@ If x is a normal variable whose mean 1 =8 Ll Blsie 1mite ~ 0I5 13
;r.ld (;ts standard deviation 0 =2 Y26 okl ity A L Alasis
ind : - -
First :P(x<10) (Vo2 ) d Vsl axgla
Second : P(5.8 < x < 10.2) (Ve ¥ =0, A)] GG
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The following table shows the marks of six
students in mathematics (x) and statistics (y):

Pl A Dl g JUNJ gl
:;\.,4;-}]\3 g_;\:.,a\.l)\ L;b\.a

Mathematics (X) [ 22 | 25 | 19 | 24 [ 25| 13 W Yo [ve|Na ve vy | () olel )l
Statistics (Y) | 453540 |28 |40 |25 Yo g« | YA€ |Yo|so| (p0)slasyl

Calculate the value of the spearman’s rank
correlation coefficient between the marks of
mathematics (x) and the marks of statistics (y) and

show its type.
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